THREE VILLAGE CENTRAL SCHOOL DISTRICT OF BROOKHAVEN AND SMITHTOWN

MEETING OF THE BOARD OF EDUCATION NOVEMBER 20, 2013

Meeting of the Board of Education of the Three Village Central School District of Brookhaven and Smithtown held at the North Country Administration Center, 100 Suffolk Avenue, Stony Brook, New York 11790 on November 20, 2013 at 6:00 p.m.

Jeffrey Kerman, President Members present:

William F. Connors Jr., Vice President

Deanna Bavlnka, Trustee Irene Gische, Trustee Jonathan Kornreich, Trustee

Susanne A. Mendelson, Trustee (as of 6:00 pm)

Members absent: Inger Germano

Also present: Cheryl Pedisich, Superintendent

> Jeffrey Carlson, Assistant Superintendent for Business Services Kevin Scanlon, Assistant Superintendent for Educational Services Gary Dabrusky, Assistant Superintendent for Human Resources

Kathleen Sampogna, District Clerk

Anthony Gabriele, Student Representative to the Board

Visitors

CALL TO **ORDER**

Dr. Kerman called the meeting to order at 5:35 p.m.

MOVE INTO **EXECUTIVE SESSION**

On motion by Dr. Kerman, seconded by Mr. Connors, , and carried by a 5-0-0 vote, the Board moved into Executive Session at 5:35 pm in accordance with Open Meeting Law to discuss Personnel matters, litigation, and collective negotiations.

RECONVENE INTO PUBLIC SESSION

The meeting reconvened into open session at 7:40 p.m. Anthony Gabriele led the pledge of allegiance.

CHANGES IN THE MEETING **AGENDA**

Addendum Pages:

- Selection Classification Winter
- Approval of Memorandum of Agreement for the United Public Service Employees Union, Three Village Clerical Unit

Replacement Pages:

- Instructional Personnel Schedules A8 and A11
- Non-Instructional Personnel Schedule B.5 and B.10

PUBLIC **PARTICIPATION** There was no public participation at this time.

MINUTES

Minutes of October 23, 2013

Be it RESOLVED that the Board of Education accept the minutes of its October 23, 2013 meeting.

On Motion by Mr. Connors, seconded by Mrs. Gische, and carried by a 6-0-0 vote, the Board accepted the minutes as presented.

ITEMS FOR **BOARD DISCUSSION**

LIPA

Mr. Carlson clarified information which was included in a recent Newsday article regarding the Reassessment LIPA Power plant. He noted that contrary to the information in the article, the Three Village School District would not be significantly impacted by any decisions regarding the power plants.

Lift Up Long Island Dr. Lilavois presented information regarding the district's participation in the Lift Up Long Island Program. Students from each school presented information on their experiences with the program.

Three Village Educational Foundation Barbara Konczynin and Karen Fota of Three Village Educational Foundation presented a check from the proceeds of the recent 50/50 raffle to the district in the amount of \$40,000, to be used toward the purchase of new marching band uniforms. Checks were also presented to the raffle winners.

INFORMATION ITEMS TO THE BOARD

REPORTS

Student Representative Report Anthony Garbriele reported on recent and upcoming events. He noted that nine music students could be participating in the NYSSMA All County Music Festival, and that tickets for the WMHS production of Beauty and the Beast are available.

External Auditor's Report

Joseph Klimek of Toski & Co. presented the External Auditor's Report, which was accepted at the October 23, 2013 Board of Education meeting.

Capital Improvement Plan Mr. Carlson and John Grillo presented information regarding the proposed Capital Improvement Plan.

Audit Committee

Mr. Kornreich reported on the recent Audit Committee meeting.

Facilities Committee Mr. Connors reported on the recent Facilities Committee meeting.

Policy Committee

Mrs. Gische reported on the recent Policy Committee meeting.

ITEMS FOR BOARD ACTION

Claims Auditor's Report – July through September 2013 On motion by Ms. Mendelson, seconded by Mr. Kornreich, and carried by a 6-0-0 vote, the Board accepted the report.

District Treasurer's Report – July through September 2013 On motion by Mrs. Gische, seconded by Mr. Kornreich, and carried by a 6-0-0 vote, the Board accepted the report.

Financial Reports

– July through
September 2013

On motion by Mr. Connors, seconded by Ms. Mendelson, and carried by a 6-0-0 vote, the Board accepted the report.

Extraclassroom Activity Treasurers' Reports – July through September 2013 On motion by Mrs. Gische, seconded by Mr. Kornreich, and carried by a 6-0-0 vote, the Board accepted the report.

Transfer of Funds (Under \$10,000) – July through September 2013 On motion by Mr. Connors, seconded by Mrs. Gische, and carried by a 6-0-0 vote, the Board accepted the report.

Acceptance of Donations

Upon the recommendation of the Superintendent of Schools be it RESOLVED that the Board of Education accept with gratitude the following items:

- A check in the amount of \$8,250.00 donated to R.C. Murphy JHS by the RC Murphy PTO to be divided amongst various departments to assist staff in enhancing the learning experience of students.
- A check in the amount of \$48.00 donated to the Ward Melville High School by Target's "Give with Target" campaign.
- A check in the amount of \$80.00 donated to the Ward Melville High School by Ohio Pyle Prints, Inc.

- A check in the amount of \$700.00 donated to PJ Gelinas JHS' Science Olympiad Fund. The donors wish to remain anonymous.
- A check in the amount of \$40,000.00 donated by the Three Village Educational Foundation to be used towards the purchase of uniforms for the Marching Band.

On motion by Ms. Mendelson, seconded by Mrs. Gische, and carried by a 6-0-0 vote, the Board approved the resolution as presented.

Declaration of Surplus Equipment

Upon recommendation of the Superintendent of Schools, be it RESOLVED that the items listed below be declared surplus and disposed of in the best interest of the Three Village Central School District.

Item Description	Model	Serial #	Three Village #	Condition
Wheelchair	n/a	n/a	001661	Poor
Bleacher Mover	n/a	9EF-08584	20082694	Poor
3' x 5' Library Tables	n/a	n/a	n/a	Poor
(from 1970s)				
Various Laptops, CPUs,	List Ava	ailable in Distric	ct Clerk's office.	
Printers and Projectors				

On motion by Mrs. Gische, seconded by Mr. Kornreich, and carried by a 6-0-0 vote, the Board approved the resolution as presented.

Declaration of Surplus Textbooks

Upon the recommendation of the Superintendent of Schools, be it RESOLVED that the books listed below be declared surplus and disposed of in the best interest of the Three Village Central School District. The books listed below are outdated and no longer in use.

<u>Title</u>	Publisher/ Date of	<u>ISBN</u>	No. of			
	<u>Publication</u>		Copies			
Unified Math-Book 3	Houghton Mifflin/1991	0-395-55069-6	25			
Unified Math-Book 2	Houghton Mifflin/1992	0-395-55067-X	25			
Unified Math-Book 1	Houghton Mifflin/1991	0-395-55063-7	30			
Algebra I	Amsco/1966	0-87720-208-7	150			
Integrated Math Course II	Amsco/1999	1-56765-515-7	150			
Math Applications &	Glencoe/1999	0-07822859-X	40			
Connections Course 2						
Library Books	A complete listing of the books to be eliminated is					
	available in the					
	Office of the District Clerk					

On motion by Mrs. Gische, seconded by Mr. Kornreich, and carried by a 6-0-0 vote, the Board approved the resolution as presented.

Approval of Special Education Services Contracts Upon recommendation of the Superintendent of Schools be it RESOLVED that the Board of Education approve the contracts for special education services to parentally-placed students with disabilities between the *District of Residence* and the *District of Location* for the 2013-2014 school year.

<u>District of Residence</u>	District of Location
Three Village CSD	Sachem Central School District
Three Village CSD	Commack Union Free School District

On motion by Ms. Mendelson, seconded by Mrs. Gische, and carried by a 6-0-0 vote, the Board approved the resolution as presented.

Adopt Resolution to Participate in the Superstorm Sandy Assessment Relief Act Upon the recommendation of the Superintendent of Schools be it RESOLVED that the Board of Education adopt the attached resolution in order to participate in the 'Superstorm Sandy Assessment Relief Act', signed into law on October 22, 2013, which will allow tax assessment relief to certain property owners of the District.

On motion by Mr. Kornreich, seconded by Mrs. Gische, and carried by a 6-0-0 vote, the Board approved the resolution as presented.

Course Name Change Proposals and New/Revised Course Proposals for 2014-2015 On motion by Mr. Connors, seconded by Ms. Mendelson, and carried by a 6-0-0 vote, the Board accepted the report.

Deletion of Impartial Hearing Officer 2013-2014 Upon the recommendation of the Superintendent of Schools be it RESOLVED that the Board of Education approve the deletion of an Impartial Hearing Officer.

On motion by Mrs. Gische, seconded by Mr. Connors, and carried by a 6-0-0 vote, the Board accepted the report.

Selection Classification – Winter Upon the recommendation of the Superintendent of Schools be it RESOLVED that the Board of Education approve the following junior high school student's participation on the high school varsity teams as indicated:

<u>Student</u> <u>JHS</u> <u>Grade</u> <u>Team/Level</u> Daniel Solomon Gelinas 8th Fencing/Varsity

On motion by Mr. Connors, seconded by Ms. Mendelson, and carried by a 6-0-0 vote, the Board approved the resolution as presented.

Stipulation of Agreement with Three Village Clerical Unit Employee Upon recommendation of the Superintendent of Schools be it RESOLVED that the Board of Education approves an agreement between the Board of Education and the employee identified on Confidential Schedule "B".

On motion by Mrs. Gische, seconded by Mr. Connors, and carried by a 6-0-0 vote, the Board approved the resolution as presented.

Stipulation of Agreement with TVTA Employee Upon the recommendation of the Superintendent of Schools be it RESOLVED that the Board of Education approves an agreement between the Board of Education and the employee identified on Confidential Scheduled "A".

On motion by Mr. Kornreich, seconded by Mrs. Mendelson, and carried by a 6-0-0 vote, the Board approved the resolution as presented.

Approval of Memorandum of Agreement for the United Public Service Employees Union, Three Village Clerical Unit Be it RESOLVED that the Memorandum of Agreement with the Three Village Central School District, the United Public Service Employees Union, Three Village clerical Unit, on file with the District, is hereby approved; and the Board President is authorized to execute the same.

PERSONNEL MATTERS Instructional

Upon the recommendation of the Superintendent of Schools be it RESOLVED that the Three Village Board of Education approve the instructional personnel items as described in the schedules listed below:

RETIREMENT

<u>Name</u>	School/Assignment	Effective Date	Date of Hire
Minelli, Denise	Gelinas JHS/Music Teacher	6/30/14	9/1/83

RESIGNATIONS

Name	School/Assignment	Effective Date	Date of Hire
Benedict, Amanda	Paul J. Gelinas JHS/ Teaching Assistant	11/15/13	12/14/11
Fischer, Andrea	Ward Melville HS/ Teaching Assistant	11/4/13	9/2/09

LEAVES OF ABSENCE

<u>Name</u>	School/Assignment	<u>Effective</u>	Reason	Tenured
Cusumano, Jacquelyn	Murphy JHS/Teaching Assistant	2013-2014	Childcare	No

APPOINTMENT TO INSTRUCTIONAL POSITIONS

Liguori, Christine Teaching Assistant

East Stroudsburg University - BS

Dowling College - MS Previous Tenure – Yes

Related to current employee - Yes Salary Step/Level – \$26,846, 1/3

Effective – 11/21/13

This is a three year probationary appointment with tenure due 11/21/16. This appointment is due to the large group of students receiving special services. Ms. Liguori is the sister of Nicole Burdette, an elementary teacher at Mount Elementary School. Ms. Liguori will be assigned to Mount Elementary School for the 2013-14 school year. Fingerprint clearance has been received

APPOINTMENTS TO SUBSTITUTE TEACHER/NURSE/PARAPROFESSIONAL/ TEACHING ASSISTANT POSITIONS

Substitute Teachers:

Caggiano, Lauren

Ms. Caggiano was emergency appointed as a substitute teacher by Ms. Cheryl Pedisich On 11/4/2013. Ms. Caggiano is currently our Varsity Girls' Basketball Coach. Fingerprint clearance is on file.

Fiore-Gibson, Carla

Fingerprint clearance has been received.

Grasso, Roseann

Ms. Grasso was emergency appointed as a substitute teacher by Ms. Cheryl Pedisich on 10/30/2013.

Fingerprint clearance has been received.

Katz, Joshua

Fingerprint clearance has been received.

Substitute Nurses:

Leute, Pamela

Ms. Leute is the wife of Frederick Leute, a member of our district's Vandalism Reduction Team.

Fingerprint clearance has been received.

APPOINTMENTS OF WINTER COACH POSITIONS

<u>Last</u> Name	<u>First</u> Name	Building	Assignment	<u>Effective</u>	Step	<u>Year</u>	Total Years	Stipend	Status
Geoni- natti	Emiliano	Gelinas	Boys Basketball 7/8	Early Winter	1	1	1	\$3,927.00	In District
Cande- meres	Matthew	WMHS	JV Boys Basketball	Winter	1	1	1	\$7,393.00	Out of District
Schoen	Brian	WMHS	Varsity Boys Winter Track	Winter	3	12	12	\$8,649.00	In District
Cantwell	Greggory	WMHS	Ass't Varsity Boys Winter Track	Winter	1	1	1	\$7,393.00	Out of District
Dion	Jean- Pierre	WMHS	Ass't Varsity Boys Winter Track	Winter	3	6	6	\$3,935.50	In District
**Mr. Can	ntwell and Mr.	Dion will be	e splitting the sti	ipend of \$7,3	93 for A	ss't. Vars	ity Boys V	Vinter Track.	
Burke	Laurie	WMHS	Asst. Varsity Girls Winter	Winter	3	10	10	\$7,871.00	In District

APPOINTMENTS OF CO-CURRICULAR SPONSORS

<u>Last Name</u>	<u>First</u> Name	Building	<u>Activity</u>	Effective	Rate	Not to Exceed
Co-Curricular C	<u>lubs</u>					
Dietz	Kristen	WMHS	Art Honor Society	2013-	\$2,448.00	\$2,448.00
Blumenthal	Teri	WMHS	Bookstore	2014 2013-	\$1,915.00	\$1,915.00
Sementilli	Angela	WMHS	Bookstore	2014 2013-	\$1,915.00	\$1,915.00
Baldo	George	WMHS	Brainstormers	2014 2013-	\$3,254.00	\$3,254.00
Swierupski	James	WMHS	Ceramics	2014 2013-	\$2,004.00	\$2,004.00
Rogers	Steve	WMHS	Concert Crew/School	2014 2013-	\$3,830.00	\$3,830.00
Wilson	Bob	WMHS	Event Crew Fishing Club	2014 2013-	\$2,004.00	\$2,004.00
Ransford	Melissa	WMHS	French Honor	2014 2013-	\$2,448.00	\$2,448.00
Chesney-Gold	Alyssa	WMHS	Society Future Business	2014 2013-	\$1,224.00	\$1,224.00
Vonnes	Carol	WMHS	Leaders of America Future Business	2014 2013-	\$1,224.00	\$1,224.00
Thomas	Jennifer	WMHS	Leaders of America Gay Straight	2014 2013-	\$2,004.00	\$2,004.00
McNair	Michelle	WMHS	Alliance Italian Club	2014 2013-	\$2,004.00	\$2,004.00
Goldberg	Annette	WMHS	Key Club	2014 2013-	\$1,627.00	\$1,627.00
Kane	Allison	WMHS	Key Club	2014 2013-	\$1,627.00	\$1,627.00
Rochford	Lisa	WMHS	Literary/Art	2014 2013-	\$2,448.00	\$2,448.00
Fischer	Andrea	WMHS	Magazine - Cinnabar Math Team	2014 2013-	\$1,224.00	\$1,224.00
Ambrose	Don	WMHS	Math Team	2014 2013-	\$1,224.00	\$1,224.00
DiLorenzo	Stephanie	WMHS	Media Club	2014 2013-	\$3,830.00	\$3,830.00
Sterne	Ira	WMHS	Model Congress	2014 2013-	\$2,004.00	\$2,004.00
Conklin	Dan	WMHS	Model UN	2014 2013-	\$3,254.00	\$3,254.00
Muller	Gisela	WMHS	National Honor	2014 2013-	\$3,254.00	\$3,254.00
Cowan	Kerry	WMHS	Society Newspaper -	2014 2013-	\$6,813.00	\$6,813.00
Watson	Shannon	WMHS	Kaleidoscope PACT	2014 2013-	\$2,004.00	\$2,004.00
Dietz	Kristen	WMHS	Photography Club	2014 2013-	\$2,004.00	\$2,004.00
Hurley	Terri	WMHS	Prom	2014 2013-	\$3,406.50	\$3,406.50
Kane	Allison	WMHS	Prom	2014 2013-	\$3,406.50	\$3,406.50
Stringer	Megan	WMHS	Prom Business	2014 2013-	\$3,830.00	\$3,830.00
Rogers	Steve	WMHS	Manager Robotics	2014 2013-	\$1,915.00	\$1,915.00
Williams	John	WMHS	Robotics	2014 2013-	\$1,915.00	\$1,915.00
Mintz	Barbara	WMHS	S.A.D.D./D.A.F.Y.	2013- 2014 2013-	\$2,004.00	\$2,004.00
Cusumano	Amy	WMHS	S.H.A.R.P	2013- 2014 2013-	\$3,254.00	\$3,254.00
Spira	Robert	WMHS	Science Bowl	2013- 2014 2013-	\$2,004.00	\$2,004.00
Malusa	Steve	WMHS	Science Olympiad	2013- 2014 2013-	\$2,448.00	\$2,448.00
				2014		
Suesser	Mark	WMHS	Science Olympiad	2013- 2014	\$2,448.00	\$2,448.00
Martin	Marvel	WMHS	Spanish Honor Society	2013- 2014	\$2,448.00	\$2,448.00
Edgar	Ginny	WMHS	Studen Government	2013- 2014	\$3,830.00	\$3,830.00
Kraemer	Dianne	WMHS	Student Government	2013- 2014	\$3,830.00	\$3,830.00
Riggio	Clarice	WMHS	Student Government	2013- 2014	\$3,830.00	\$3,830.00
Gustavsen	Laura	WMHS	Tri-M Music Honor Society	2013- 2014	\$3,254.00	\$3,254.00
Favre	Maria	WMHS	Ward Melville Players	2013- 2014	\$8,493.00	\$8,493.00
Gregory	Glenda	WMHS	Women's Forum	2013- 2014	\$2,004.00	\$2,004.00

Weisman	Cortney	WMHS	Yearbook	2013- 2014	\$8,493.00	\$8,493.00
Trettner	Jennifer	WMHS	Yearbook - Business Manager	2013- 2014	\$3,830.00	\$3,830.00
Glasheen	Rich	Gelinas	7th Grade Math Team	1/2014 - 6/2014	\$1,002.50	\$1,002.50
Figliozzi	Linda	Mount	Scrabble Club	2013-	\$1,414.00	\$1,414.00
Metz	Doranne	Setauket	Internet Safety Advisor	2014 2013- 2014	\$1,414.00	\$1,414.00

APPOINTMENTS OF ANNUAL EXTRA ASSIGNMENTS

Last Name	First Name	Building	Assignment	<u>Effective</u>	<u>Hours</u>	Not to Exceed
SAT Prep Instruct	<u>ors</u>					
Gandt	Deborah	WMHS	SAT Prep Program Instructor	Fall 2013	Stipend	\$1,442.00
Tam	Aaron	WMHS	SAT Prep Program Instructor	Fall 2013	Stipend	\$1,442.00
Diehl	John	WMHS	SAT Prep Program Registration	Fall 2013	Stipend	\$515.00
Sheridan	James	WMHS	SAT Prep Program Supervisor	Fall 2013	Stipend	\$1,030.00

APPOINTMENTS OF HOURLY EXTRA ASSIGNMENTS

<u>Last Name</u>	First Name	Building	Assignment	Effective	Rate	Hours	Not to Exceed
Writing Commit	<u>tee</u>						
Alu	Loree	North Country	Elementary Writing Committee	11/5/2013	\$ 45.56/hr	10	\$455.60
Biamonte	Ellen	North Country	Elementary Writing Committee	10/3/2013	\$ 45.56/hr	5	\$277.80
Brady	Judy	North Country	Elementary Writing Committee	10/3/2013	\$ 45.56/hr	5	\$277.80
Connelly	Nicole	North Country	Elementary Writing Committee	11/5/2013	\$ 45.56/hr	10	\$455.60
Dowling	Sean	North Country	Elementary Writing Committee	10/3/2013	\$ 45.56/hr	5	\$277.80
Gaedje	Dawn	North Country	Elementary Writing	10/3/2013	\$ 45.56/hr	5	\$277.80
Goldwasser	Joyce	North Country	Committee Elementary Writing	10/3/2013	\$ 45.56/hr	5	\$277.80
Gulino	Olga	North Country	Committee Elementary Writing	10/3/2013	\$ 45.56/hr	5	\$277.80
Hegarty	Lorraine	North Country	Committee Elementary Writing Committee	10/3/2013	\$ 45.56/hr	5	\$277.80
Higgins	Stacey	North Country	Elementary Writing Committee	10/3/2013	\$ 45.56/hr	5	\$277.80
Larsen	Judy	North Country	Elementary Writing Committee	11/5/2013	\$ 45.56/hr	10	\$455.60
Montalbano	Gina	North Country	Elementary Writing Committee	10/3/2013	\$ 45.56/hr	5	\$277.80
Weckstein	Ilene	North Country	Elementary Writing Committee	10/3/2013	\$ 45.56/hr	5	\$277.80
Whitehead	Nicole	North Country	Elementary Writing Committee	10/3/2013	\$ 45.56/hr	5	\$277.80
AIS Services							
Brendel	Melanie	Murphy	ELA AIS Services	12/2013 - 4/1/2014	\$ 52.69/hr	60 hours	\$3,161.40
Cadolina	Joanna	Gelinas	ELA AIS Services	12/2013 - 4/1/2014	\$ 52.69/hr	60 hours	\$3,161.40
Costello	Ann- Marie	Gelinas	ELA AIS Services	12/2013 - 4/1/2014	\$ 52.69/hr	60 hours	\$3,161.40

Duffy	Cathy	Murphy	ELA AIS	12/2013 -	\$ 52.69/hr	60 hours	\$3,161.40
Gilmore	Beverly	Murphy	Services ELA AIS	4/1/2014 12/2013 -	\$ 52.69/hr	60 hours	\$3,161.40
Keenan	Susan	Murphy	Services ELA AIS	4/1/2014 12/2013 -	\$ 52.69/hr	60 hours	\$3,161.40
Lauri	Deb	Murphy	Services ELA AIS	4/1/2014 12/2013 -	\$ 52.69/hr	60 hours	\$3,161.40
Ouzounian	Marisa	Gelinas	Services ELA AIS	4/1/2014 12/2013 -	\$ 52.69/hr	60 hours	\$3,161.40
Palmer	Lori	Gelinas	Services ELA AIS	4/1/2014 12/2013 -	\$ 52.69/hr	60 hours	\$3,161.40
			Services	4/1/2014			
Shaw	Jacqueline	Gelinas	ELA AIS Services	12/2013 - 4/1/2014	\$ 52.69/hr	60 hours	\$3,161.40
Alessi	Christian	Gelinas	Math AIS Services	12/2013 - 4/1/2014	\$ 52.69/hr	60 hours	\$3,161.40
Cifuni	Matt	Murphy	Math AIS Services	12/2013 - 4/1/2014	\$ 52.69/hr	60 hours	\$3,161.40
Kranenberg	Patti	Gelinas	Math AIS Services	12/2013 - 4/1/2014	\$ 52.69/hr	60 hours	\$3,161.40
Marley	Elise	Murphy	Math AIS Services	12/2013 - 4/1/2014	\$ 52.69/hr	60 hours	\$3,161.40
McNamara	Laura	Gelinas	Math AIS	12/2013 -	\$ 52.69/hr	60 hours	\$3,161.40
Pelligrino	Dominic	Gelinas	Services Math AIS	4/1/2014 12/2013 -	\$ 52.69/hr	60 hours	\$3,161.40
Vetro	Rocco	Murphy	Services Math AIS	4/1/2014 12/2013 -	\$ 52.69/hr	60 hours	\$3,161.40
			Services	4/1/2014			
Music							
Chapman	Jason	Murphy	WMHS Musical - Pit Orchestra	12/9 - 12/14/2013	\$95 /Rehearsal	Max 7 Rehearsals	\$665.00
Jordan	Sean	Mount	WMHS Musical - Pit Orchestra	12/9 - 12/14/2013	\$95/ Rehearsal	Max 7 Rehearsals	\$665.00
Hayes	Daniel	Gelinas	WMHS Musical - Pit	12/9 - 12/14/2013	\$95/ Rehearsal	Max 7 Rehearsals	\$665.00
Gustavsen	Laura	WMHS	Orchestra WMHS Musical - Pit	12/9 - 12/14/2013	\$95/ Rehearsal	Max 7 Rehearsals	\$665.00
Lopinto	Phil	District- Wide	Orchestra Various District Concerts and Rehearsals	2013-2014	Accomp- anist Rate for Out-of- District	6 Concerts/ Rehearsals	\$1,800.00
Trump	Carol	District-	Various	2013-2014	vendor Accomp-	2 Concerts/	\$600.00
		Wide	District Concerts and Rehearsals		anist Rate for Out-of- District vendor	Rehearsals	
Marcus	Jeff	District- Wide	Various District Concerts and Rehearsals	2013-2014	Accomp- anist Rate for Out-of- District vendor	3 Concerts/ Rehearsals	\$900.00
Chaperoning/Su	upervision						
Dunbar	Kristin	WMHS	Trick or Treat Street	10/31/2013	\$ 40.48/hr	4	\$161.92
Faraci	Maria	WMHS	Trick or Treat Street	10/31/2013	\$ 40.48/hr	4	\$161.92
Hurley	Terri	WMHS	Trick or Treat Street	10/31/2013	\$ 40.48/hr	4	\$161.92
Markey	Dorothy	WMHS	Trick or Treat	10/31/2013	\$ 40.48/hr	4	\$161.92
Menten	Susan	WMHS	Street Trick or Treat	10/31/2013	\$ 40.48/hr	4	\$161.92
Mintz	Barbara	WMHS	Street Trick or Treat	10/31/2013	\$ 40.48/hr	4	\$161.92
Reinhardt	Robin	WMHS	Street Trick or Treat	10/31/2013	\$ 40.48/hr	4	\$161.92
Wegenaar	Nancy	WMHS	Street Trick or Treat	10/31/2013	\$ 40.48/hr	4	\$161.92
Carlson	Deana	Gelinas	Street Chaperone	11/2013 -	\$ 40.48/hr		\$500.00
Hueber	Gus	3 Village	LIAEA	6/2014 10/5/2013	\$200.00	1 Day	\$200.00
		Academy	Conference LIAEA			•	
Lynch	Mary	3 Village Academy	Conference	10/5/2013	\$200.00	1 Day	\$200.00
Rockford	Lisa	3 Village Academy	LIAEA Conference	10/5/2013	\$200.00	1 Day	\$200.00
Sterne	Ira	3 Village Academy	LIAEA Conference	10/5/2013	\$200.00	1 Day	\$200.00
Zeidman	Stacey	3 Village Academy	LIAEA Conference	10/5/2013	\$200.00	1 Day	\$200.00
Caldarraro	Yvonne	Gelinas	After School 1:1 Supervision	2013-2014	\$19.40	25	\$500.00

Primavera	Laura	Gelinas	After School 1:1	2013-2014	\$19.40	25	\$500.00
Sacco	Michael	Gelinas	Supervision Chaperone	2013-2014	\$ 40.48/hr	12	\$500.00
Bracco	Flo (Sub TA)	WMHS	Escort Spec. Ed. Students 1.1 to co- curricular activities/ clubs	2013-2014	\$19.40	20	\$582.00
Burger	Susan	WMHS	Escort Spec. Ed. Students 1.1 to co- curricular activities/ clubs	2013-2014	\$19.40	30	\$400.00
Conrad	Chelsea	WMHS	Escort Spec. Ed. Students 1.1 to co- curricular activities/ clubs	2013-2014	\$19.40	30	\$582.00
Damsky	Kara	WMHS	Escort Spec. Ed. Students 1.1 to co- curricular activities/ clubs	2013-2014	\$19.40	30	\$582.00
Dion	JP (Jean Paul)	WMHS	Escort Spec. Ed. Students 1.1 to co- curricular activities /clubs	2013-2014	\$ 19.40	30	\$582.00
Faraci	Maria	WMHS	Escort Spec. Ed. Students 1.1 to co- curricular activities/	2013-2014	\$19.40	30	\$582.00
Fischer	Andrea	WMHS	clubs Escort Spec. Ed. Students 1.1 to co- curricular activities/ clubs	2013-2014	\$19.40	30	\$582.00
Gaddis	Luke	WMHS	Escort Spec. Ed. Students 1.1 to co- curricular activities/ clubs	2013-2014	\$19.40	30	\$582.00
Goldberg	Annette	WMHS	Escort Spec. Ed. Students 1.1 to co- curricular activities/ clubs	2013-2014	\$19.40	30	\$582.00
Hurley	Terri	WMHS	Escort Spec. Ed. Students 1.1 to co- curricular activities/ clubs	2013-2014	\$19.40	30	\$582.00
Koelher	Donna	WMHS	Escort Spec. Ed. Students 1.1 to co- curricular activities/ clubs	2013-2014	\$19.40	30	\$582.00
Kowalenko	Randi	WMHS	Escort Spec. Ed. Students 1.1 to co- curricular activities/ clubs	2013-2014	\$19.40	30	\$582.00
LaMonica	Mary Ann	WMHS	Escort Spec. Ed. Students 1.1 to co- curricular activities/ clubs	2013-2014	\$19.40	30	\$582.00
Malone	Laura	WMHS	Escort Spec. Ed. Students 1.1 to co- curricular activities/ clubs	2013-2014	\$19.40	30	\$582.00

Malone	Laura	WMHS	Escort Spec. Ed. Students 1.1 to co- curricular activities/	2013-2014	\$ 19.40	70	\$1,358.00
Markey	Dorothy	WMHS	clubs Escort Spec. Ed. Students 1.1 to co- curricular activities/	2013-2014	\$19.40	30	\$582.00
Metcalf	Marilyn	WMHS	clubs Escort Spec. Ed. Students 1.1 to co- curricular activities/ clubs	2013-2014	\$19.40	30	\$582.00
Mintz	Barbara	WMHS	Escort Spec. Ed. Students 1.1 to co- curricular activities/ clubs	2013-2014	\$19.40	30	\$582.00
Montemorano	Marisol	WMHS	Escort Spec. Ed. Students 1.1 to co- curricular activities/ clubs	2013-2014	\$19.40	30	\$582.00
Muldoon	Don	WMHS	Escort Spec. Ed. Students 1.1 to co- curricular activities/ clubs	2013-2014	\$19.40	30	\$582.00
Pederman	Gina	WMHS	Escort Spec. Ed. Students 1.1 to co- curricular activities/ clubs	2013-2014	\$19.40	30	\$582.00
Pryor	Lisa	WMHS	Escort Spec. Ed. Students 1.1 to co- curricular activities/ clubs	2013-2014	\$19.40	30	\$582.00
Reinhardt	Robin	WMHS	Escort Spec. Ed. Students 1.1 to co- curricular activities/ clubs	2013-2014	19.40	30	\$582.00
Reinhardt	Robin	WMHS	Escort Spec. Ed. Students 1.1 to co- curricular activities/ clubs	2013-2014	\$19.40	30	\$582.00
Rupe	Alison	WMHS	Escort Spec. Ed. Students 1.1 to co- curricular activities/ clubs	2013-2014	\$19.40	30	\$582.00
Schreiber- Cross	Stacy	WMHS	Escort Spec. Ed. Students 1.1 to co- curricular activities/ clubs	2013-2014	\$19.40	30	\$582.00
Weegennar	Nancy	WMHS	Escort Spec. Ed. Students 1.1 to co- curricular activities/	2013-2014	\$19.40	30	\$582.00
Williams	Louise	WMHS	clubs Escort Spec. Ed. Students 1.1 to co- curricular activities/	2013-2014	\$19.40	30	\$582.00
Hayes	Daniel	Arrow- head	clubs Accompanist for Winter Concert at Arrowhead	12/13/13	\$150.00		\$150.00
Hayes	Daniel	Arrow- head	3 - Rehearsals for Concert	12/4, 12/9, 12/10	\$ 40.48/hr	6	\$242.88

Chesney- Gold	Alyssa	3 Village Academy	Chaperoning Student Field Trips & Other Various	2013-2014	\$ 40.48/hr	60	\$2,428.80
Howard	Cynthia	3 Village Academy	Activities Chaperoning Student Field Trips & Other Various	2013-2014	\$ 40.48/hr	60	\$2,428.80
Roarty	Karen	3 Village Academy	Activities Chaperoning Student Field Trips & Other Various	2013-2014	\$ 40.48/hr	60	\$2,428.80
Ross	Lori	3 Village Academy	Activities Chaperoning Student Field Trips & Other Various	2013-2014	\$ 40.48/hr	60	\$2,428.80
Schnitzer	Alaina	3 Village Academy	Activities Chaperoning Student Field Trips & Other Various	2013-2014	\$ 40.48/hr	60	\$2,428.80
Chesney- Gold	Alyssa	WMHS	Activities FBLA National	6/27/13 - 7/1/13	\$ 300/day	5 days	\$1,500.00
Chesney- Gold	Alyssa	WMHS	Competition FBLA National Competition	6/27/13 - 7/1/13	\$ 150/night	4 nights	\$600.00
Brous	Genevieve	WMHS	FBLA National Competition	6/27/13 - 7/1/13	\$ 300/day	5 days	\$1,500.00
Brous	Genevieve	WMHS	FBLA National Competition	6/27/13 - 7/1/13	\$ 150/night	4 nights	\$600.00
Trettner	Jennifer	WMHS	Journalism Convention Chaperone	11/13- 11/15/2013	\$150/day	3 days	\$450.00
Trettner	Jennifer	WMHS	Journalism Convention Chaperone	11/16- 11/17	\$ 300/day	2 days	\$600.00
Weisman	Cortney	WMHS	Journalism Convention Chaperone	11/13- 11/15/2013	\$150/day	3 days	\$450.00
Weisman	Cortney	WMHS	Journalism Convention Chaperone	11/16- 11/17	\$ 300/day	2 days	\$600.00
Proctoring							
Mayernik	Susanne	Murphy	PSAT	10/19/2013	\$ 40.48/hr	6	\$202.40
Markey	Dorothy	WMHS	Proctoring PSAT	10/19/2013	\$ 40.48/hr	5	\$202.40
Coppolla	Patricia	WMHS	Proctoring PSAT	10/19/2013	\$ 40.48/hr	5	\$242.88
Gianmugnai	Theresa	WMHS	Proctoring PSAT	10/19/2013	\$ 40.48/hr	5	\$202.40
			Proctoring				
Milano	John	WMHS	PSAT Proctoring	10/19/2013	\$ 40.48/hr	5	\$202.40
Pomerantz	Linda	WMHS	PSAT Proctoring	10/19/2013	\$ 40.48/hr	5	\$404.80
Pomerantz	Dan	WMHS	PSAT Proctoring	10/19/2013	\$ 40.48/hr	5	\$242.88
Preuss	Mary	WMHS	PSAT Proctoring	10/19/2013	\$ 40.48/hr	5	\$202.40
Ritter	Bruce	WMHS	PSAT Proctoring	10/19/2013	\$ 40.48/hr	5	\$202.40
Tullo	Patricia	WMHS	PSAT Proctoring	10/19/2013	\$ 40.48/hr	5	\$202.40
Castiglie	Mary	WMHS	PSAT Proctoring	10/19/2013	\$ 40.48/hr	10	\$404.80
<u>Home</u>							
<u>Tutoring</u> Baumann							
	Matthew	WMHS	Home	9/26/13 -	\$ 45/hr	12	\$540.00
Glazebrook	Matthew Jane		Home Tutoring Home	10/4/13	\$ 45/hr \$ 45/hr	12 1	\$540.00 \$45.00
		Murphy	Tutoring Home Tutoring	10/4/13 16-Sep			\$45.00
Marley	Jane Elise	Murphy Murphy	Tutoring Home Tutoring Home Tutoring	10/4/13 16-Sep 10/1/2013 - 10/9/2013	\$ 45/hr \$ 45/hr	1 5	\$45.00 \$225.00
Marley Baumann	Jane Elise Matthew	Murphy Murphy WMHS	Tutoring Home Tutoring Home Tutoring Home Tutoring	10/4/13 16-Sep 10/1/2013 - 10/9/2013 10/8/13 - 10/18-13	\$ 45/hr \$ 45/hr \$ 45/hr	1 5 12	\$45.00 \$225.00 \$540.00
Marley Baumann Baumann	Jane Elise Matthew Matthew	Murphy Murphy WMHS WMHS	Tutoring Home Tutoring Home Tutoring Home Tutoring Home Tutoring Home Tutoring	10/4/13 16-Sep 10/1/2013 - 10/9/2013 10/8/13 - 10/18-13 10/21/13 - 10/28/13	\$ 45/hr \$ 45/hr \$ 45/hr \$ 45/hr	1 5 12 12	\$45.00 \$225.00 \$540.00 \$540.00
Marley Baumann	Jane Elise Matthew	Murphy Murphy WMHS	Tutoring Home Tutoring Home Tutoring Home Tutoring Home Tutoring Home	10/4/13 16-Sep 10/1/2013 - 10/9/2013 10/8/13 - 10/18-13 10/21/13 -	\$ 45/hr \$ 45/hr \$ 45/hr	1 5 12	\$45.00 \$225.00 \$540.00

Saturday Enric	hment						
Cohn	Gina	Murphy	Rainbow	2013-2014	\$25/hr		\$750.00
Conlon	Toni	Murphy	Bandz Craze Healthy Cooking For Kids	2013-2014	\$35/hr		\$1,260.00
Cuomo	Kristin	Murphy	ECO-Art	2013-2014	\$30/hr		\$840.00
Giarrusso	Tara	Murphy	Fun With	2013-2014	\$25/hr		\$750.00
Gitter	Marilyn	Murphy	Science Creative	2013-2014	\$25/hr		\$750.00
Hall	Maureen	Murphy	Writing Card Making/Scrap	2013-2014	\$35/hr		\$1,120.00
Hammer	Brian	Murphy	booking Assistant	2013-2014	\$15/hr		\$750.00
Hammer	Veronica	Murphy	Assistant	2013-2014	\$25/hr		\$100.00
Hirsch	Jennifer	Murphy	Jewelry	2013-2014	\$25/hr		\$750.00
Kain	Bonnie	Murphy	Making Assistant	2013-2014	\$15/hr		\$750.00
Levenson	Jamie	Murphy	Assistant	2013-2014	\$15/hr		\$750.00
Malone	Lauren	Murphy	Cartooning	2013-2014	\$30/hr		\$840.00
Massi-	Kim	Murphy	Multimedia	2013-2014	\$35/hr		\$1,120.00
Impellizzeri Matzelle	Denise	Murphy	Arts & Crafts Assistant	2013-2014	\$35/hr		\$1,575.00
Mintz	Barbara	Murphy	Sweet Tooth	2013-2014	\$45/hr		\$1,620.00
Novetti	Jason	Murphy	Assistant	2013-2014	\$15/hr		\$750.00
Novetti	Laura	Murphy	Make Time	2013-2014	\$25/hr		\$950.00
Novetti	Michelle	Murphy	For Breakfast Assistant	2013-2014	\$25/III \$15/hr		\$750.00
Ondrush			What's For	2013-2014	\$15/hr \$25/hr		
Reinhardt	Sonja Robin	Murphy Murphy	Dinner? A Seuss-	2013-2014	\$25/hr		\$950.00 \$750.00
Rosen	Amy	Murphy	Tastsic Day! Origami	2013-2014	\$30/hr		\$840.00
Homecoming	rilly	Mulphy	Origann	2013 2014	ψ30/111		φο-το.σσ
		****		10/1/2012			44.54.02
Cusumano	Amy	WMHS	Homecoming Pep Rally Dinner	10/4/2013	\$ 40.48/hr	4	\$161.92
Hurley	Terri	WMHS	Homecoming Pep Rally Dinner	10/4/2013	\$ 40.48/hr	4	\$161.92
Kane	Allison	WMHS	Homecoming Pep Rally Dinner	10/4/2013	\$ 40.48/hr	3.5	\$141.68
Lamonica	Maryann	WMHS	Homecoming Pep Rally Dinner	10/4/2013	\$ 40.48/hr	4	\$161.92
Manco	Steve	WMHS	Homecoming Pep Rally Dinner	10/4/2013	\$ 40.48/hr	4	\$161.92
McNamara	Brendan	WMHS	Homecoming Pep Rally Dinner	10/4/2013	\$ 40.48/hr	4	\$161.92
Negus	Jay	WMHS	Homecoming Pep Rally Dinner	10/4/2013	\$ 40.48/hr	4	\$161.92
Rufa	Jonathon	WMHS	Homecoming Pep Rally Dinner	10/4/2013	\$ 40.48/hr	3	\$121.44
Fischer	Andrea	WMHS	Homecoming Carnival	10/5/2013	\$ 40.48/hr	3	\$121.44
Hayes	Dan	WMHS	Homecoming Carnival	10/5/2013	\$ 40.48/hr	4	\$161.92
Lamonica	Maryann	WMHS	Homecoming Carnival	10/5/2013	\$ 40.48/hr	5.5	\$222.64
Negus	Jay	WMHS	Homecoming Carnival	10/5/2013	\$ 40.48/hr	4	\$161.92
Rufa	Jonathon	WMHS	Homecoming Carnival	10/5/2013	\$ 40.48/hr	4	\$161.92
Chaperoning Arcuri	Maria	Setauket	Chaperone -	2013-2014	\$ 19.40/hr	4	4 hours
Booker	Karen	Setauket	Field Trips Chaperone -	2013-2014	\$ 19.40/hr	4	per event 4 hours
Drosselmeier	Theresa	Setauket	Field Trips Chaperone -	2013-2014	\$ 19.40/hr	4	per event 4 hours
Faughnan	Bridget	Setauket	Field Trips Chaperone -	2013-2014	\$ 19.40/hr	4	per event 4 hours
Gluck	Christine	Setauket	Field Trips Chaperone -	2013-2014	\$ 19.40/hr	4	per event 4 hours
Gulli	Cristina	Setauket	Field Trips Chaperone -	2013-2014	\$ 19.40/hr	4	per event 4 hours
Johnson	Suzanne	Setauket	Field Trips Chaperone - Field Trips	2013-2014	\$ 19.40/hr	4	per event
Levy	Danielle	Setauket	Chaperone - Field Trips	2013-2014	\$ 19.40/hr	4	per event 4 hours per event
			r ·				

McHugh	Karen	Setauket	Chaperone - Field Trips	2013-2014	\$ 19.40/hr	4	4 hours per event
Olson	Ruth	Setauket	Chaperone - Field Trips	2013-2014	\$ 19.40/hr	4	4 hours per event
Panuccio	Debbie	Setauket	Chaperone - Field Trips	2013-2014	\$ 19.40/hr	4	4 hours per event
Reduto	Daniela	Setauket	Chaperone -	2013-2014	\$ 19.40/hr	4	4 hours
Russolillo	Grasiela	Setauket	Field Trips Chaperone -	2013-2014	\$ 19.40/hr	4	per event 4 hours
Sarro	Beverly	Setauket	Field Trips Chaperone -	2013-2014	\$ 19.40/hr	4	per event 4 hours
Schnebel	Lorraine	Setauket	Field Trips Chaperone -	2013-2014	\$ 19.40/hr	4	per event 4 hours
Smith	Anne	Setauket	Field Trips Chaperone -	2013-2014	\$ 19.40/hr	4	per event 4 hours
Spiazzi	Eufrasia	Setauket	Field Trips Chaperone -	2013-2014	\$ 19.40/hr	4	per event 4 hours
Swain	Christine	Setauket	Field Trips Chaperone -	2013-2014	\$ 19.40/hr	4	per event 4 hours
	Diana	Setauket	Field Trips Chaperone -	2013-2014	\$ 19.40/hr	4	per event 4 hours
Toop			Field Trips			4	per event 4 hours
Verbesey	Deborah	Setauket	Chaperone - Field Trips	2013-2014	\$ 19.40/hr		per event
Wilkom	Michele	Setauket	Chaperone - Field Trips	2013-2014	\$ 19.40/hr	4	4 hours per event
Arcuri	Maria	Setauket	After Hours 1:1	2013-2014	\$ 19.40/hr	4	4 hours per event
Booker	Karen	Setauket	Supervision After Hours	2013-2014	\$ 19.40/hr	4	4 hours
			1:1 Supervision				per event
Drosselmeier	Theresa	Setauket	After Hours	2013-2014	\$ 19.40/hr	4	4 hours per event
Fauchman	Duidoot	Cataulaat	Supervision	2012 2014	¢ 10 40/b=	4	•
Faughnan	Bridget	Setauket	After Hours 1:1	2013-2014	\$ 19.40/hr	4	4 hours per event
Gluck	Christine	Setauket	Supervision After Hours	2013-2014	\$ 19.40/hr	4	4 hours
			1:1 Supervision				per event
Gulli	Cristina	Setauket	After Hours 1:1	2013-2014	\$ 19.40/hr	4	4 hours per event
Johnson	Suzanne	Setauket	Supervision After Hours	2013-2014	\$ 19.40/hr	4	4 hours
			1:1 Supervision				per event
Levy	Danielle	Setauket	After Hours	2013-2014	\$ 19.40/hr	4	4 hours
M II 1	17	G . 1 .	1:1 Supervision	2012 2014	¢ 10 40 /	4	per event
McHugh	Karen	Setauket	After Hours 1:1	2013-2014	\$ 19.40/hr	4	4 hours per event
Olson	Ruth	Setauket	Supervision After Hours	2013-2014	\$ 19.40/hr	4	4 hours
			1:1 Supervision				per event
Panuccio	Debbie	Setauket	After Hours 1:1	2013-2014	\$ 19.40/hr	4	4 hours per event
Reduto	Daniela	Setauket	Supervision After Hours	2013-2014	\$ 19.40/hr	4	4 hours
			1:1 Supervision				per event
Russolillo	Grasiela	Setauket	After Hours	2013-2014	\$ 19.40/hr	4	4 hours
C	Daniela	C-414	Supervision	2012 2014	¢ 10 40/L	4	per event
Sarro	Beverly	Setauket	After Hours 1:1	2013-2014	\$ 19.40/hr	4	4 hours per event
Schnebel	Lorraine	Setauket	Supervision After Hours	2013-2014	\$ 19.40/hr	4	4 hours
			1:1 Supervision				per event
Smith	Anne	Setauket	After Hours 1:1	2013-2014	\$ 19.40/hr	4	4 hours per event
Spiazzi	Eufrasia	Setauket	Supervision After Hours	2013-2014	\$ 19.40/hr	4	4 hours
			1:1 Supervision				per event
Swain	Christine	Setauket	After Hours 1:1	2013-2014	\$ 19.40/hr	4	4 hours
Tr.	D.	G . 1 .	Supervision	2012 2014	¢ 10 40 /	4	per event
Toop	Diana	Setauket	After Hours 1:1	2013-2014	\$ 19.40/hr	4	4 hours per event
Verbesey	Deborah	Setauket	Supervision After Hours	2013-2014	\$ 19.40/hr	4	4 hours
			1:1 Supervision				per event
Wilkom	Michele	Setauket	After Hours 1:1	2013-2014	\$ 19.40/hr	4	4 hours per event
Arcuri	Maria	Setauket	Supervision Concert	2013-2014	\$ 40.48/hr	4	4 hours
Booker	Karen	Setauket	Chaperoning Concert	2013-2014	\$ 40.48/hr	4	per event 4 hours
DOORGI	1141CH	SomuRU	Chaperoning	2013-2014	φ τ υ.τ υ/III	•	per event

Drosselmeier	Theresa	Setauket	Concert	2013-2014	\$ 40.48/hr	4	4 hours
Faughnan	Bridget	Setauket	Chaperoning Concert	2013-2014	\$ 40.48/hr	4	per event 4 hours
Gluck	Christine	Setauket	Chaperoning Concert	2013-2014	\$ 40.48/hr	4	per event 4 hours
			Chaperoning				per event
Gulli	Cristina	Setauket	Concert Chaperoning	2013-2014	\$ 40.48/hr	4	4 hours per event
Johnson	Suzanne	Setauket	Concert	2013-2014	\$ 40.48/hr	4	4 hours
Levy	Danielle	Setauket	Chaperoning Concert	2013-2014	\$ 40.48/hr	4	per event 4 hours
McHugh	Karen	Setauket	Chaperoning Concert	2013-2014	\$ 40.48/hr	4	per event 4 hours
Wichugii	Kaien		Chaperoning	2013-2014			per event
Olson	Ruth	Setauket	Concert Chaperoning	2013-2014	\$ 40.48/hr	4	4 hours per event
Panuccio	Debbie	Setauket	Concert	2013-2014	\$ 40.48/hr	4	4 hours
Reduto	Daniela	Setauket	Chaperoning Concert	2013-2014	\$ 40.48/hr	4	per event 4 hours
D 121	G 11	G . 1 .	Chaperoning				per event
Russolillo	Grasiela	Setauket	Concert Chaperoning	2013-2014	\$ 40.48/hr	4	4 hours per event
Sarro	Beverly	Setauket	Concert Chaperoning	2013-2014	\$ 40.48/hr	4	4 hours per event
Schnebel	Lorraine	Setauket	Concert	2013-2014	\$ 40.48/hr	4	4 hours
Smith	Anne	Setauket	Chaperoning Concert	2013-2014	\$ 40.48/hr	4	per event 4 hours
			Chaperoning				per event
Spiazzi	Eufrasia	Setauket	Concert Chaperoning	2013-2014	\$ 40.48/hr	4	4 hours per event
Swain	Christine	Setauket	Concert	2013-2014	\$ 40.48/hr	4	4 hours
Toop	Diana	Setauket	Chaperoning Concert	2013-2014	\$ 40.48/hr	4	per event 4 hours
Verbesey	Deborah	Setauket	Chaperoning Concert	2013-2014	\$ 40.48/hr	4	per event 4 hours
•			Chaperoning				per event
Wilkom	Michele	Setauket	Concert Chaperoning	2013-2014	\$ 40.48/hr	4	4 hours per event
Arcuri	Maria	Setauket	Chaperoning	2013-2014	\$ 40.48/hr	4	4 hours
			After School Events				per event
Booker	Karen	Setauket	Chaperoning After School	2013-2014	\$ 40.48/hr	4	4 hours
			Events				per event
Drosselmeier	Theresa	Setauket	Chaperoning After School	2013-2014	\$ 40.48/hr	4	4 hours per event
			Events				•
Faughnan	Bridget	Setauket	Chanaranina			4	A houre
		Dettucket	Chaperoning After School	2013-2014	\$ 40.48/hr	4	4 hours per event
-			After School Events				per event
Gluck	Christine	Setauket	After School	2013-2014	\$ 40.48/hr \$ 40.48/hr	4	
Gluck	Christine	Setauket	After School Events Chaperoning After School Events	2013-2014	\$ 40.48/hr	4	per event 4 hours per event
-			After School Events Chaperoning After School Events Chaperoning After School				per event 4 hours
Gluck	Christine Cristina	Setauket Setauket	After School Events Chaperoning After School Events Chaperoning After School Events Chaperoning After School Events	2013-2014 2013-2014	\$ 40.48/hr \$ 40.48/hr	4	per event 4 hours per event 4 hours
Gluck	Christine	Setauket	After School Events Chaperoning After School Events Chaperoning After School Events Chaperoning After School	2013-2014	\$ 40.48/hr	4	per event 4 hours per event 4 hours per event
Gluck	Christine Cristina	Setauket Setauket	After School Events Chaperoning After School Events Chaperoning After School Events Chaperoning Chaperoning	2013-2014 2013-2014	\$ 40.48/hr \$ 40.48/hr	4	per event 4 hours per event 4 hours per event 4 hours
Gluck Gulli Johnson	Christine Cristina Suzanne	Setauket Setauket	After School Events Chaperoning After School	2013-2014 2013-2014 2013-2014	\$ 40.48/hr \$ 40.48/hr \$ 40.48/hr	4 4	per event 4 hours per event 4 hours per event 4 hours per event
Gluck Gulli Johnson	Christine Cristina Suzanne	Setauket Setauket	After School Events Chaperoning	2013-2014 2013-2014 2013-2014	\$ 40.48/hr \$ 40.48/hr \$ 40.48/hr	4 4	per event 4 hours per event 4 hours per event 4 hours per event 4 hours
Gluck Gulli Johnson Levy	Christine Cristina Suzanne Danielle	Setauket Setauket Setauket	After School Events Chaperoning After School	2013-2014 2013-2014 2013-2014 2013-2014	\$ 40.48/hr \$ 40.48/hr \$ 40.48/hr	4 4 4	per event 4 hours per event 4 hours per event 4 hours per event 4 hours per event
Gluck Gulli Johnson Levy	Christine Cristina Suzanne Danielle	Setauket Setauket Setauket	After School Events Chaperoning After School	2013-2014 2013-2014 2013-2014 2013-2014	\$ 40.48/hr \$ 40.48/hr \$ 40.48/hr	4 4 4	per event 4 hours
Gluck Gulli Johnson Levy McHugh	Christine Cristina Suzanne Danielle Karen	Setauket Setauket Setauket Setauket	After School Events Chaperoning After School Events	2013-2014 2013-2014 2013-2014 2013-2014 2013-2014	\$ 40.48/hr \$ 40.48/hr \$ 40.48/hr \$ 40.48/hr	4 4 4 4	per event 4 hours per event
Gluck Gulli Johnson Levy McHugh	Christine Cristina Suzanne Danielle Karen	Setauket Setauket Setauket Setauket	After School Events Chaperoning	2013-2014 2013-2014 2013-2014 2013-2014 2013-2014	\$ 40.48/hr \$ 40.48/hr \$ 40.48/hr \$ 40.48/hr	4 4 4 4	per event 4 hours
Gluck Gulli Johnson Levy McHugh Olson	Christine Cristina Suzanne Danielle Karen Ruth	Setauket Setauket Setauket Setauket Setauket	After School Events Chaperoning After School Events	2013-2014 2013-2014 2013-2014 2013-2014 2013-2014 2013-2014	\$ 40.48/hr \$ 40.48/hr \$ 40.48/hr \$ 40.48/hr \$ 40.48/hr	4 4 4 4	per event 4 hours per event
Gluck Gulli Johnson Levy McHugh Olson	Christine Cristina Suzanne Danielle Karen Ruth	Setauket Setauket Setauket Setauket Setauket	After School Events Chaperoning	2013-2014 2013-2014 2013-2014 2013-2014 2013-2014 2013-2014	\$ 40.48/hr \$ 40.48/hr \$ 40.48/hr \$ 40.48/hr \$ 40.48/hr	4 4 4 4	per event 4 hours
Gluck Gulli Johnson Levy McHugh Olson Panuccio Reduto	Christine Cristina Suzanne Danielle Karen Ruth Debbie Daniela	Setauket Setauket Setauket Setauket Setauket Setauket Setauket	After School Events Chaperoning After School Events	2013-2014 2013-2014 2013-2014 2013-2014 2013-2014 2013-2014 2013-2014	\$ 40.48/hr \$ 40.48/hr \$ 40.48/hr \$ 40.48/hr \$ 40.48/hr \$ 40.48/hr \$ 40.48/hr	4 4 4 4 4 4	per event 4 hours per event
Gluck Gulli Johnson Levy McHugh Olson Panuccio	Christine Cristina Suzanne Danielle Karen Ruth Debbie	Setauket Setauket Setauket Setauket Setauket Setauket	After School Events Chaperoning After School	2013-2014 2013-2014 2013-2014 2013-2014 2013-2014 2013-2014 2013-2014	\$ 40.48/hr \$ 40.48/hr \$ 40.48/hr \$ 40.48/hr \$ 40.48/hr \$ 40.48/hr	4 4 4 4 4	per event 4 hours
Gluck Gulli Johnson Levy McHugh Olson Panuccio Reduto Russolillo	Christine Cristina Suzanne Danielle Karen Ruth Debbie Daniela Grasiela	Setauket Setauket Setauket Setauket Setauket Setauket Setauket Setauket	After School Events Chaperoning After School Events	2013-2014 2013-2014 2013-2014 2013-2014 2013-2014 2013-2014 2013-2014 2013-2014	\$ 40.48/hr \$ 40.48/hr \$ 40.48/hr \$ 40.48/hr \$ 40.48/hr \$ 40.48/hr \$ 40.48/hr \$ 40.48/hr	4 4 4 4 4 4	per event 4 hours per event
Gluck Gulli Johnson Levy McHugh Olson Panuccio Reduto	Christine Cristina Suzanne Danielle Karen Ruth Debbie Daniela	Setauket Setauket Setauket Setauket Setauket Setauket Setauket	After School Events Chaperoning After School	2013-2014 2013-2014 2013-2014 2013-2014 2013-2014 2013-2014 2013-2014	\$ 40.48/hr \$ 40.48/hr \$ 40.48/hr \$ 40.48/hr \$ 40.48/hr \$ 40.48/hr \$ 40.48/hr	4 4 4 4 4 4	per event 4 hours
Gluck Gulli Johnson Levy McHugh Olson Panuccio Reduto Russolillo Sarro	Christine Cristina Suzanne Danielle Karen Ruth Debbie Daniela Grasiela Beverly	Setauket Setauket Setauket Setauket Setauket Setauket Setauket Setauket Setauket	After School Events Chaperoning After School Events	2013-2014 2013-2014 2013-2014 2013-2014 2013-2014 2013-2014 2013-2014 2013-2014 2013-2014	\$ 40.48/hr \$ 40.48/hr \$ 40.48/hr \$ 40.48/hr \$ 40.48/hr \$ 40.48/hr \$ 40.48/hr \$ 40.48/hr	4 4 4 4 4 4 4	per event 4 hours per event
Gluck Gulli Johnson Levy McHugh Olson Panuccio Reduto Russolillo	Christine Cristina Suzanne Danielle Karen Ruth Debbie Daniela Grasiela	Setauket Setauket Setauket Setauket Setauket Setauket Setauket Setauket	After School Events Chaperoning After School	2013-2014 2013-2014 2013-2014 2013-2014 2013-2014 2013-2014 2013-2014 2013-2014	\$ 40.48/hr \$ 40.48/hr \$ 40.48/hr \$ 40.48/hr \$ 40.48/hr \$ 40.48/hr \$ 40.48/hr \$ 40.48/hr	4 4 4 4 4 4	per event 4 hours
Gluck Gulli Johnson Levy McHugh Olson Panuccio Reduto Russolillo Sarro Schnebel	Christine Cristina Suzanne Danielle Karen Ruth Debbie Daniela Grasiela Beverly Lorraine	Setauket	After School Events Chaperoning After School Events	2013-2014 2013-2014 2013-2014 2013-2014 2013-2014 2013-2014 2013-2014 2013-2014 2013-2014 2013-2014	\$ 40.48/hr \$ 40.48/hr \$ 40.48/hr \$ 40.48/hr \$ 40.48/hr \$ 40.48/hr \$ 40.48/hr \$ 40.48/hr \$ 40.48/hr \$ 40.48/hr	4 4 4 4 4 4 4 4	per event 4 hours per event
Gluck Gulli Johnson Levy McHugh Olson Panuccio Reduto Russolillo Sarro	Christine Cristina Suzanne Danielle Karen Ruth Debbie Daniela Grasiela Beverly	Setauket Setauket Setauket Setauket Setauket Setauket Setauket Setauket Setauket	After School Events Chaperoning After School	2013-2014 2013-2014 2013-2014 2013-2014 2013-2014 2013-2014 2013-2014 2013-2014 2013-2014	\$ 40.48/hr \$ 40.48/hr \$ 40.48/hr \$ 40.48/hr \$ 40.48/hr \$ 40.48/hr \$ 40.48/hr \$ 40.48/hr	4 4 4 4 4 4 4	per event 4 hours
Gluck Gulli Johnson Levy McHugh Olson Panuccio Reduto Russolillo Sarro Schnebel	Christine Cristina Suzanne Danielle Karen Ruth Debbie Daniela Grasiela Beverly Lorraine	Setauket	After School Events Chaperoning	2013-2014 2013-2014 2013-2014 2013-2014 2013-2014 2013-2014 2013-2014 2013-2014 2013-2014 2013-2014	\$ 40.48/hr \$ 40.48/hr \$ 40.48/hr \$ 40.48/hr \$ 40.48/hr \$ 40.48/hr \$ 40.48/hr \$ 40.48/hr \$ 40.48/hr \$ 40.48/hr	4 4 4 4 4 4 4 4	per event 4 hours
Gluck Gulli Johnson Levy McHugh Olson Panuccio Reduto Russolillo Sarro Schnebel Smith	Christine Cristina Suzanne Danielle Karen Ruth Debbie Daniela Grasiela Beverly Lorraine Anne	Setauket	After School Events Chaperoning After School	2013-2014 2013-2014 2013-2014 2013-2014 2013-2014 2013-2014 2013-2014 2013-2014 2013-2014 2013-2014 2013-2014 2013-2014	\$ 40.48/hr \$ 40.48/hr	4 4 4 4 4 4 4 4 4 4 4 4 4	per event 4 hours per event
Gluck Gulli Johnson Levy McHugh Olson Panuccio Reduto Russolillo Sarro Schnebel Smith	Christine Cristina Suzanne Danielle Karen Ruth Debbie Daniela Grasiela Beverly Lorraine Anne	Setauket	After School Events Chaperoning	2013-2014 2013-2014 2013-2014 2013-2014 2013-2014 2013-2014 2013-2014 2013-2014 2013-2014 2013-2014 2013-2014 2013-2014	\$ 40.48/hr \$ 40.48/hr	4 4 4 4 4 4 4 4 4 4 4 4 4	per event 4 hours
Gluck Gulli Johnson Levy McHugh Olson Panuccio Reduto Russolillo Sarro Schnebel Smith Spiazzi	Christine Cristina Suzanne Danielle Karen Ruth Debbie Daniela Grasiela Beverly Lorraine Anne Eufrasia	Setauket	After School Events Chaperoning After School Events	2013-2014 2013-2014 2013-2014 2013-2014 2013-2014 2013-2014 2013-2014 2013-2014 2013-2014 2013-2014 2013-2014 2013-2014 2013-2014	\$ 40.48/hr \$ 40.48/hr	4 4 4 4 4 4 4 4 4 4 4 4 4 4 4	per event 4 hours per event

Toop	Diana	Setauket	Chaperoning After School Events	2013-2014	\$ 40.48/hr	4	4 hours per event
Verbesey	Deborah	Setauket	Chaperoning After School Events	2013-2014	\$ 40.48/hr	4	4 hours per event
Wilkom	Michele	Setauket	Chaperoning After School	2013-2014	\$ 40.48/hr	4	4 hours per event

^{**}This is a correction from the 9/25 A11. These 4 hours are per event not 4 hours in total.

On motion by Mr. Kornreich, seconded by Mr. Connors, and carried by a 6-0-0 vote, the Board approved the resolution as presented.

Non-Instructional

Upon the recommendation of the Superintendent of Schools be it RESOLVED that the Three Village Board of Education approve the non-instructional personnel items as described in the schedules listed below:

RETIREMENT NON-INSTRUCTIONAL STAFF

<u>Name</u>	School/Assignment	Effective <u>Date</u>	Years of <u>Service</u>
Sibilly, Jane	North Country Administration Building/ Administrative Aide	11/21/13	15 yrs. 3 mo.

RESIGNATIONS NON-INSTRUCTIONAL STAFF

<u>Name</u>	School/Assignment	Effective <u>Date</u>	Length of Service
Longworth, Elise	The Laurel Hill School / Special Education Aide	10/22/13	1 wk.
Sullivan, Doreen	Setauket Elementary School / Part-time Food Service Worker	11/04/13	2 mos.

TERMINATION NON-INSTRUCTIONAL STAFF

<u>Name</u>	School/Assignment	Effective
<u>r turre</u>	Benodit Issignment	Bilective

Fisher, May Minnesauke Elementary School / 11/07/13

Monitor

APPOINTMENT TO NON-INSTRUCTIONAL ADMINISTRATIVE POSITION

Hanson, Robert "Acting" Plant Facilities Administrator

Maintenance & Operations Replacing: Kenneth Gray Related to current employee: No Salary: \$450.00 per Diem

Effective: November 21, 2013 until further notification.

Mr. Hanson will assume the role of "Acting" Plant Facilities Administrator in the absence of Kenneth Gray. Denial of clearance or conditional clearance from the Commissioner of Education shall result in immediate termination of employment.

APPOINTMENTS TO NON-INSTRUCTIONAL POSITIONS

Clerical

Lin, Iris 10 Month Clerk Typist (Step 6 /Level 1)

Child Nutrition Office
Replacing: Gwen Mayer
Related to current employee: No
Annual Salary: \$33,368 (prorated)
Effective: November 21, 2013

Fingerprinting clearance has been received and is on file.

Monitors/Special Education Aides

Altamura, Melissa Special Education Aide (6.0 hours/day)

Arrowhead Elementary School

New Position

Related to current employee: No Salary: \$13.59/hourly (Step 1/ Level 11) Annual Stipend: \$700.00 prorated Effective: November 21, 2013

Fingerprinting clearance has been received and is on file.

Balducci, Lisa Special Education Aide (6.0 hours/day)

Arrowhead Elementary School Replacing: Marie Bonventre Related to current employee: No Salary: \$13.59/hourly (Step 1/ Level 11) Annual Stipend: \$700.00 prorated Effective: November 21, 2013

Fingerprinting clearance has been received and is on file.

Blank, Joan Special Education Aide (5.75 hours/day)

The Laurel Hill School Replacing: Elise Longworth Related to current employee: No Salary: \$13.59/hourly (Step 1/ Level 10) Annual Stipend: \$700.00 prorated Effective: November 21, 2013

Fingerprinting clearance has been received and is on file.

DeLaurenzo, Arlene Special Education Aide (6.0 hours/day)

Setauket Elementary School Replacing: Kelly Mortilla Related to current employee: No Salary: \$13.59/hourly (Step 1/ Level 11) Annual Stipend: \$700.00 prorated Effective: November 21, 2013

Fingerprinting clearance has been received and is on file.

Lawlor, Diana Special Education Aide (6.0 hours/day)

Nassakeag Elementary School

New Position

Related to current employee: No Salary: \$13.59/hourly (Step 1/ Level 11) Annual Stipend: \$700.00 prorated Effective: November 21, 2013

Fingerprinting clearance has been received and is on file.

O'Malley, Diane Special Education Aide (6.0 hours/day)

Arrowhead Elementary School

New Position

Related to current employee: No Salary: \$13.59/hourly (Step 1/ Level 11) Annual Stipend: \$700.00 prorated Effective: November 21, 2013

Fingerprinting clearance has been received and is on file.

Small, Barbara Special Education Aide (6.0 hours/day)

Arrowhead Elementary School

New Position

Related to current employee: No Salary: \$13.59/hourly (Step 1/ Level 11) Annual Stipend: \$700.00 prorated Effective: November 21, 2013

Fingerprinting clearance has been received and is on file.

School-Aged Child Care (SACC)

Mundy, Christine Special Education Aide (max 10 hrs/week)

Setauket Elementary School

New Position

Related to current employee: No

Salary - \$13.96 hourly

Effective – November 21, 2013

Ms. Mundy is currently a Special Education Aide at Setauket Elementary. Fingerprinting clearance has been received and is on file.

CHANGES OF STATUS NON-INSTRUCTIONAL STAFF

Custodial

Luhrs, David From: Groundskeeper I (Step 12/Level 9)

To: "Acting" Maintenance Mechanic II (Step 12/Level 11)

Maintenance

Annual Salary: \$69,637 (prorated)

Effective: September 23, 2013 until further notification

Mr. Luhrs assumed the role of "Acting" Maintenance Mechanic II due to increased workload in the Maintenance Department.

Monitor/Special Education Aide

Saputo, Lois From: Monitor (Step 15/Level 3)

To: Monitor (Step 15/Level 2) Arrowhead Elementary School Effective: October 24, 2013

APPOINTMENTS TO NON-INSTRUCTIONAL SUBSTITUTE POSITIONS

Monitors/Special Education Aides

Constantino, Stacy Salary-\$11.42/hr.

Effective-11/21/13

Fingerprinting clearance has been received and is on file.

Hopkins, Molly Salary-\$11.42/hr.

Effective-11/21/13

Fingerprinting clearance has been received and is on file.

Malone, Lauren Salary-\$11.42/hr.

Effective-11/21/13

Ms. Malone is currently a substitute teacher and substitute Teaching Assistant in the district. Fingerprinting clearance has been received and is on file.

Treder, Krista Salary-\$11.42/hr.

Effective-11/21/13

Ms. Treder is currently a substitute teacher in the district. Fingerprinting clearance has been received and is on file.

Security

Mallins, Robert Salary-\$17.94/hr. Effective-11/21/13

Fingerprinting clearance has been received and is on file.

Perez, Tito Salary-\$17.94/hr.

Effective-11/21/13

Fingerprinting clearance has been received and is on file.

Stoecker, Kevin Salary-\$17.94/hr. Effective-11/21/13

Fingerprinting clearance has been received and is on file.

Wojciechowski, Clement Salary-\$17.94/hr. Effective-11/21/13

Fingerprinting clearance has been received and is on file.

APPOINTMENTS OF HOURLY EXTRA ASSIGNMENTS

Last Name	<u>First</u> Name	Building	Assignment	<u>Effective</u>	Rate	<u>Hours</u>	Not to Exceed
Wiberly	Donna	All Elementary	Clerical - Book Room Leveling	Fall 2013 - December	\$44.46/hr	60	\$2,667.60
Ms. Wiberly wa	s approved for	Schools or this assignme	ent at the 10/23 BOE	2013 E meeting. The	hourly rate ar	nd not to	
exceed amount i	_		Cl	10/10/12	¢40.40	10	¢405.76
Feehan	Deborah	Nassakeag	Chaperone Winter &	12/12/13, 5/5/14,	\$40.48	12	\$485.76
			Spring Concerts	5/15/14			
Griffin	Flo	Nassakeag	Chaperone Winter &	12/12/13, 5/5/14,	\$40.48	12	\$485.76
			Spring Concerts	5/15/14			
Lauria	Nanette	Nassakeag	Chaperone	12/12/13,	\$40.48	12	\$485.76
			Winter & Spring Concerts	5/5/14, 5/15/14			
Maeder	Lori	Nassakeag	Chaperone	12/12/13,	\$40.48	12	\$485.76
			Winter &	5/5/14,			
Alkon	Patty	Nassakeag	Spring Concerts Chaperone	5/15/14 12/12/13,	\$40.48	12	\$485.76
rinon	1 atty	russukeug	Winter &	5/5/14,	Ψ10.10	12	ψ105.70
	ъ		Spring Concerts	5/15/14	Ø 40, 40	10	0.405.75
Aramanda	Doreen	Nassakeag	Chaperone Winter &	12/12/13, 5/5/14,	\$40.48	12	\$485.76
			Spring Concerts	5/15/14			
Blekicki	Nancy	Nassakeag	Chaperone	12/12/13,	\$40.48	12	\$485.76
			Winter & Spring Concerts	5/5/14, 5/15/14			
Lawlor	Diana	Nassakeag	Chaperone	12/12/13,	\$40.48	12	\$485.76
		Č	Winter &	5/5/14,			
Cullen	Donna	Naggalzana	Spring Concerts Chaperone	5/15/14 12/12/13,	\$40.48	12	\$485.76
Cullen	Domia	Nassakeag	Winter &	5/5/14,	\$ 4 0.46	12	\$405.70
			Spring Concerts	5/15/14			
Gerlach	Alice	Nassakeag	Chaperone Winter &	12/12/13, 5/5/14,	\$40.48	12	\$485.76
			Spring Concerts	5/15/14			
Giangrande	Cynthia	Nassakeag	Chaperone	12/12/13,	\$40.48	12	\$485.76
			Winter &	5/5/14,			
Grein	Jean	Nassakeag	Spring Concerts Chaperone	5/15/14 12/12/13,	\$40.48	12	\$485.76
			Winter &	5/5/14,			
Gresch	Мониоси	Magadraga	Spring Concerts	5/15/14	\$40.49	12	¢10576
Gresch	Maureen	Nassakeag	Chaperone Winter &	12/12/13, 5/5/14,	\$40.48	12	\$485.76
			Spring Concerts	5/15/14			
Hayle	Pat	Nassakeag	Chaperone Winter &	12/12/13, 5/5/14,	\$40.48	12	\$485.76
			Spring Concerts	5/15/14			
Leung	Monica	Nassakeag	Chaperone	12/12/13,	\$40.48	12	\$485.76
			Winter & Spring Concerts	5/5/14, 5/15/14			
McNamara	Lisa	Nassakeag	Chaperone	12/12/13,	\$40.48	12	\$485.76
			Winter &	5/5/14,			
Milazzo	Suzanne	Nassakeag	Spring Concerts Chaperone	5/15/14 12/12/13,	\$40.48	12	\$485.76
WIIIaZZO	Suzanne	ivassakeag	Winter &	5/5/14,	ψ + 0.+0	12	ψ+05.70
			Spring Concerts	5/15/14			
Moore	Karen	Nassakeag	Chaperone Winter &	12/12/13, 5/5/14,	\$40.48	12	\$485.76
			Spring Concerts	5/15/14			
Narus	Lauraine	Nassakeag	Chaperone	12/12/13,	\$40.48	12	\$485.76
			Winter & Spring Concerts	5/5/14, 5/15/14			
Palmer	Gena	Nassakeag	Chaperone	12/12/13,	\$40.48	12	\$485.76
		-	Winter &	5/5/14,			
Peters	Joan	Nassakeag	Spring Concerts Chaperone	5/15/14 12/12/13,	\$40.48	12	\$485.76
101013	Jouri	rassancag	Winter &	5/5/14,	ψ τ υ. τ υ	1 2	ψτυΣ./Ο
G			Spring Concerts	5/15/14	# 40.40	10	₼ 4 ○ 7 = -
Spataro	Marisa	Nassakeag	Chaperone Winter &	12/12/13, 5/5/14,	\$40.48	12	\$485.76
			Spring Concerts	5/15/14			

Smith	Diane	Nassakeag	Chaperone Winter &	12/12/13, 5/5/14,	\$40.48	12	\$485.76
Tarquinio	Karen	Nassakeag	Spring Concerts Chaperone Winter &	5/15/14 12/12/13, 5/5/14,	\$40.48	12	\$485.76
Wennerod	Kristen	Nassakeag	Spring Concerts Chaperone Winter &	5/15/14 12/12/13, 5/5/14,	\$40.48	12	\$485.76
Conlon	Toni	Nassakeag	Spring Concerts Chaperone Winter &	5/15/14 12/12/13, 5/5/14,	\$40.48	12	\$485.76
Connerton	Genine	Nassakeag	Spring Concerts Chaperone Winter &	5/15/14 12/12/13, 5/5/14,	\$40.48	12	\$485.76
Garnier	Lynn	Nassakeag	Spring Concerts Chaperone Winter &	5/15/14 12/12/13, 5/5/14,	\$40.48	12.00	\$485.76
Bell	Cynthia	Nassakeag	Spring Concerts Chaperone Winter &	5/15/14 12/12/13, 5/5/14,	\$40.48	12	\$485.76
Azzara	Annette	Nassakeag	Spring Concerts Chaperone Winter &	5/15/14 12/12/13, 5/5/14,	\$40.48	12	\$485.76
Alexander	Lorraine	Nassakeag	Spring Concerts Chaperone Winter &	5/15/14 12/12/13, 5/5/14,	\$40.48	12	\$485.76
Acosta	Sue	Nassakeag	Spring Concerts Chaperone Winter &	5/15/14 12/12/13, 5/5/14,	\$40.48	12	\$485.76
Barilla	Donna	Nassakeag	Spring Concerts Chaperone Winter &	5/15/14 12/12/13, 5/5/14,	\$40.48	12	\$485.76
Fitzsimons	Judy	Nassakeag	Spring Concerts Chaperone Winter &	5/15/14 12/12/13, 5/5/14,	\$40.48	12	\$485.76
DeStefano	Barbara	MUR	Spring Concerts Student supervision before or after school, co-	5/15/14 9/9/13- 6/27/14	\$40.48	up to 10 hrs per month	\$404.80
			curricular activities (Dances, concerts, plays, etc)				
Eldor	Ora	MUR	Student supervision before or after school, co- curricular activities (Dances, concerts, plays,	9/9/13- 6/27/14	\$40.48	up to 10 hrs per month	\$404.80
Forzano	Corinne	MUR	etc) Student supervision before or after school, co- curricular activities (Dances, concerts, plays,	9/9/13- 6/27/14	\$40.48	up to 10 hrs per month	\$404.80
Martino	Sophia	MUR	etc) Student supervision before or after school, co- curricular activities (Dances, concerts, plays,	9/9/13- 6/27/14	\$40.48	up to 10 hrs per month	\$404.80
Matta	Ida	MUR	etc) Student supervision before or after school, co- curricular activities (Dances, concerts, plays,	9/9/13- 6/27/14	\$40.48	up to 10 hrs per month	\$404.80
Patterson	Debra	MUR	etc) Student supervision before or after school, co- curricular activities (Dances, concerts, plays, etc)	9/9/13- 6/27/14	\$40.48	up to 10 hrs per month	\$404.80

Pemberton	Nancy	MUR	Student supervision before or after school, co- curricular activities (Dances, concerts, plays,	9/9/13- 6/27/14	\$40.48	up to 10 hrs per month	\$404.80
Pollina	Jackie	MUR	etc) Student supervision before or after school, co- curricular activities (Dances, concerts, plays,	9/9/13- 6/27/14	\$40.48	up to 10 hrs per month	\$404.80
Sciacca	Barbara	MUR	etc) Student supervision before or after school, co- curricular activities (Dances, concerts, plays, etc)	9/9/13- 6/27/14	\$40.48	up to 10 hrs per month	\$404.80
Zyller	Debbie	MUR	Student supervision before or after school, co- curricular activities (Dances, concerts, plays,	9/9/13- 6/27/14	\$40.48	up to 10 hrs per month	\$404.80
Kickel* (sub)	Brittany	WMHS	etc) Escort Spec. Ed. Students 1.1 to co- curricular	2013-2014	Reg Hourly Rate	30	\$300.00
Blackburn*	Lauren	WMHS	activities/clubs Escort Spec. Ed. Students 1.1 to co- curricular	2013-2014	Reg Hourly Rate	30	\$300.00
Choonawalla*	Sakina	WMHS	activities/clubs Escort Spec. Ed. Students 1.1 to co- curricular	2013-2014	Reg Hourly Rate	30	\$300.00
Heimerle*	Denise	WMHS	activities/clubs Escort Spec. Ed. Students 1.1 to co- curricular	2013-2014	Reg Hourly Rate	30	\$300.00
Irizarry*	Linda	WMHS	activities/clubs Escort Spec. Ed. Students 1.1 to co- curricular	2013-2014	Reg Hourly Rate	30	\$300.00
Menten*	Sue	WMHS	activities/clubs Escort Spec. Ed. Students 1.1 to co- curricular	2013-2014	Reg Hourly Rate	30	\$300.00
Pryor*	Veronica	WMHS	activities/clubs Escort Spec. Ed. Students 1.1 to co- curricular	2013-2014	Reg Hourly Rate	30	\$300.00
*Ms. Kickel, Ms. Blackburn, Ms. Choonawalla, Ms. Heimerle, Ms. Irizarry, Ms. Menten and Ms. Pryor were							

^{*}Ms. Kickel, Ms. Blackburn, Ms. Choonawalla, Ms. Heimerle, Ms. Irizarry, Ms. Menten and Ms. Pryor were approved for this assignment at the 10/09/13 BOE meeting. This recommendation is for 30 additional hours.

AMENDMENT/REVISION

Clerical

Morreale, Jacqueline
Status: Account Clerk Typist
Amendment/Revision: First name
Date of BOE Approval: October 23, 2013

Ms. Morreale was BOE approved as Jennifer Morreale. Her first name is being corrected.

On motion by Mr. Connors, seconded by Ms. Mendelson, and carried by a 6-0-0 vote, the Board approved the resolution as presented.

Recommendations of Committee on Special Education Meetings of: September 17, 19, October 1, 3, 4, 8, 9, 10, 11, 15, 16, 17, 18, 21, 22,23, 24, 25, 28, 30, 31, November 1, 4, 5, and 8, 2013

Upon recommendation of the Superintendent of Schools be it RESOLVED that the Board of Education, through the administration, arrange for the provision of the appropriate special education programs and services for students enumerated in the report of the Committee on Special Education.

On motion by Mr. Kornreich, seconded by Ms. Mendelson, and carried by a 6-0-0 vote, the Board approved the resolution as presented.

Recommendations of Committee on Preschool Special Education Meetings of: October 22, 24, November 6, and 7, 2013 Upon recommendation of the Superintendent of Schools be it RESOLVED that the Board of Education, through the administration, arrange for the provision of the appropriate special education programs and services for students enumerated in the report of the Committee on Preschool Special Education.

On motion by Mr. Kornreich, seconded by Mr. Connors, and carried by a 6-0-0 vote, the Board approved the resolution as presented.

OTHER ITEMS OF INTEREST

Mrs. Pedisich advised that the District is participating in the "Stanley Security Together for Safer Schools Grant" vote competition.

Ms. Mendelson noted that a hearing will be held on the Common Core at Comsewogue High School.

PUBLIC PARTICIPATION

There was no Public Participation at this time.

MOVE INTO EXECUTIVE SESSION/ ADJOURNMENT On motion by Mrs. Gische, seconded by Ms. Mendelson, and carried by a 6-6-0 vote, the Board

moved into Executive Session at 9:35 pm.

The Executive Session ended at 10:00 p.m.

Respectfully submitted,

Kathleen Sampogna District Clerk